BrIRE—ESEPR ABER 1 HPaEE
[=EEAFOEBEaAVNADER]

[ Use of Pythagorean theorem and compass |

RA (The original)

14¢ B# BRM
73 = FTE o F s ma T
» x| | BT LEIED G
A %g?l%‘%a =7 g%g%@% F—U—F: SEHFOEH, o L
R ld | AR S T TS, O R E AN SE
Az B oER e e b e ;.,\’ﬂ:é A% = Keyword: Mitate Sanpou Kiku Buntousyu
T%Zz. s é J 543{ S 7,’_‘;7_ gi% The Pythagorean theorem , EZR]7E A.D.1730
% - %’;i £ Ij;ﬁl‘ﬂcﬁ' % The depth of the pond, % . TR BE
SN g 2p ﬁ;?éa’ﬁ}:‘il_«ﬂa Plant in a pond i .
| %c% S = - T *"}? = Author : MASHIO.Tokiharu
BEE e~ LR E
e & 2 Esieras . = —K<s &
| L Y 5 J%T ik Ferl-=a 11‘»5
S X =9 ?:,5@ A=) &
) e .
IEﬁunaR (The Japanese translation) \ HFHAE (The mathematical content)
S PRI PR N Y r=EHOEEL 25
3 S “RE% \ - = ZEADOEBEOVINAD]
PERYEIES SN YN ST TEE LY e
PTEEHTTE NI EETEBLEOTHAEI _ - P
c ﬁ— —3%T LD fﬁ‘rg 5 m%/\ 5 4 (f:jﬂs S ,g\ifrsg EEADEEEEST, MORIXEARS,
Fiaie2ly wuEaERlatloioNa BEMOAC=2R CN=8R ,
TlERtL3E 2THEobRMErinc=§ AB=ABFZA\D /
shmchEls T3 3B cotELED NB=x+2R
23225850 Gl —ompEmy 2Ly EESY I j
BREXCODT +&a® NEDIRTE TO A'B2=CB2+AC2>
TrhpBEARY AR LD EEEs CxAE NE ,
EnkiEas 2Rzh FIL why < BOFAE 1SR TH
AL - = : INT & D4 = ; =~ > o . « e ki
> EN &N IR 32T N |

ZEBER (The English translation)

l'Use of Pythagorean theorem and compass|
The English translation

Into a pond, two plants have sprung up and have come out from the 2sho water surface.

They have sprung up from the position where length is equal and the same. It leans untip
the tip of one plant become the same height as the water surface, in order to

investigate the depth. There is 8h% of distance to the tip of a plant leaning from the
place to which the plant which is not leaned cones out from the water surface.This is
reduced and it expresses 85",

When extending the compass to arc passes through the tips of two plants, it can be seen
that extends 1%9kv 7sun, This is one tenth of the length of the plant.

As 2%veku 2sun that has come out from the surface of the
water from this length, draw depth of the pond can be seen and is 1shu 1sun, This can be
seen as a 1/ve 55haku depth of actual pond and 10 times since Aru shrinking.
Or in tilted hit the root to the pile of a single plant it is possible to determine the length of
the above methods.

Feature =Noticed

“use a compass {?RFJ‘EH
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ZEBER (The mathematical English translation )

l'Use of Pythagorean theorem and compass ]
=The Mathematical English translation
Find out the value of X which is depth of pond with a compass and the Pythagorean
theorem.
From the right figure, AC=2shoku  CA’=gshaku  AB=A'B, so A'B=X-2shaku
From the Pythagorean theorem,
A'B2=CB2+A'B?
So (X+2)2=x2+8?2
X2+4X+4=X2+64
4X=60
X=15

Accordingly, we can find that the depth of pond is 15sheku, M The figure
A trait and noticed

=Plants are used.

=We can find the answer indirectly without diving into the pond.
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FEH (Summary)
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%48 (Writing of impressions of all)
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This book of Japanese mathematics uses a plant %2_9‘-—\4pyyj'%’,:[,\é‘@%f:[,\t;a);ﬁﬁgiﬁb
equivalent in the length to find the depth of the TEof=,

pond. It grows from the same place. It is used like a In the old days people thought carefully various
compass and a triangle is made in the pond and they things from'a unique pomt Of.VieW )

are measuring the depth using Pythagorean theorem. We want to improve our fighting split too.

S#DOFEB (Challenges for the future)
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We should look for a better way,

And we want to spread the book of

Japanese mathematics.
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